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��� /DWDU�%HODNDQJ

3UDNWHN� .HUMD� 3HQJDEGLDQ� 0DV\DUDNDW� �3.30�� PHUXSDNDQ� NHJLDWDQ�

PDKDVLVZD� VHEDJDL� V\DUDW� PDWD� NXOLDK� VHNDOLJXV� VDUDQD� SHQJHPEDQJDQ� LGH�

NUHDWLI� GDODP� PHPDQIDDWNDQ� VXPEHU� GD\D� SRWHQVLDO�� 7XMXDQ� GLDGDNDQQ\D�

3.30� �3UDNWHN� .HUMD 3HQJDEGLDQ� 0DV\DUDNDW�� ,QVWLWXW� ,QIRUPDWLND� GDQ�

%LVQLV� 'DUPDMD\D� DGDODK� XQWXN� PHQJHPEDQJNDQ� MLZD� HQWHUSUHQHXUVKLS��

PHPEDQJXQ� GHVD�� PHQHUDSNDQ� WHNQRORJL� LQIRUPDVL� EDJL� PDV\DUDNDW� GHVD�

WHUVHEXW�� XQWXN� PHQJJDOL� SRWHQVL� ZLOD\DK� DWDX� GHVD� WXMXDQ� JXQD�

PHQJHPEDQJNDQ� NUHDWLILWDV� PDV\DUDNDW� XQWXN� SHQHOLWLDQ� PDKDVLVZD� GDQ�

GRVHQ� GDQ� XQWXN� PHQMDOLQ� NHUMDVDPD� \DQJ� EHUNHODQMXWDQ� DQWDUD� ,QVWLWXW�

,QIRUPDWLND� GDQ�%LVQLV�'DUPDMD\D� GHQJDQ� SHPHULQWDKDQ� GDHUDK� GL� SURYLQVL�

/DPSXQJ� �VXPEHU���/DSRUDQ 3.30 'DQLHO��WDKXQ������

3HODNVDQDDQQ\D PHPLOLNL EHEHUDSD WDKDSDQ \DLWX WDKDS SHUVLDSDQ�

SHPEHNDODQ� REVHUYDVL� SHOHSDVDQ�SHODNVDQDDQ GDQ SHODSRUDQ� 'DODP

SUDNWLNQ\D� PDKDVLVZD 3.30 GLKDUDSNDQ PDPSX PHPEHULNDQ GXNXQJDQ

SHPLNLUDQ� WHQDJD GDQ SHQJHWDKXDQ GDODP SHUHQFDQDDQ GDQ SHODNVDQDDQ

SURJUDP SHQJHPEDQJDQ 80.0 GDQ GHVD� 3DGD VDDW \DQJ EHUVDPDDQ SHQXOLV

PHODNXNDQ NHJLDWDQ 3.30 LQL GL 'HVD 7DODQJ -DZD .HFDPDWDQ 0HUEDX

0DWDUDP 3URYLQVL /DPSXQJ 6HODWDQ��

0D\RULWDV�PDV\DUDNDW�GL�'HVD�7DODQJ�-DZD�EHUPDWD�SHQFDKDULDQ� VHEDJDL�

SHWDQL�� EXUXK�SHWDQL�� SHGDJDQJ�GDQ� SHJDZDL��7HUGDSDW� EHEHUDSD� XVDKD� NHFLO�

PHQHQJDK� �80.0��GL�GHVD�7DODQJ�-DZD�GDQ�$55$�5RWL�PHUXSDNDQ�VDODK�

VDWX 80.0�\DQJ� EHUJHUDN� GL� ELGDQJ� SURGXNVL� URWL�� LQL�PHPDQJ� VDODK� VDWX�

80.0 \DQJ�SHUOX�PHQGDSDW� SHUKDWLDQ�GDQ� ELVD GLNHPEDQJNDQ� OHELK� ODQMXW�

GDUL�VHJL�SURGXNVL��SHPDVDUDQ�SURGXN� �VXPEHU�GDWD�NDQWRU�GHVD�WDKXQ������

80.0�$55$�5RWL PHPSXQ\DL�EHEHUDSD�NHQGDOD�\DLWX�6'0�\DQJ�NXUDQJ�

PHPDGDL�NDUHQD�DODW�SURGXNVL�\DQJ PDVLK WHUEDWDV�KDUJD� �EDKDQ�SURGXNVL�\DQJ�
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PHQJDODPL�NHQDLNDQ���PHUHN�XVDKD�\DQJ�VXGDK GLSDNDL�ROHK XVDKD�ODLQ�ORJR�\DQJ�

EHOXP� SDVWL�URWL� \DQJ WLGDN EHUYDULDVL GDQ� SHPDVDUDQ� SURGXNQ\D� \DQJ� EHOXP�

PHQJXQDNDQ�PHGLD VRVLDO� VHEDJDL�PHGLD�SURPRVL�VHUWD�PHPDVDUNDQ�SURGXNQ\D��

+DO� LQL�PHQJDNLEDWNDQ� EHOXP�PDNVLPDOQ\D� SHPDVDUDQ SURGXN�$55$�5RWL� NH�

OXDU� GDHUDK�8VDKD� �PLOLN� SULEDGL� LQL�PDVLK� DNWLI� GDODP�PHODNXNDQ� SURGXNVL�

5RWL GL� GDHUDK� 7DODQJ� -DZD�� GDQ� GDSDW� GLOLKDW� GDUL� VHJL� XVDKD� \DQJ� VXGDK�

EDQ\DN� GLNHWDKXL� PDV\DUDNDW� 7DODQJ� -DZD� GDQ� GDHUDK7DQMXQJ� %LQWDQJ��

.DEXSDWHQ�/DPSXQJ�6HODWDQ���VXPEHU���SHPLOLN�80.0��7DKXQ������

6HWHODK�PHOLKDW� ODWDU� EHODNDQJ�SHUPDVDODKDQ�GLDWDV�80.0�$55$�5RWL�

NXUDQJ� PDNVLPDO� GDODP� PHPDVDUNDQ� SURGXNQ\D�� PDND� PHNDQLVPH� \DQJ�

SHUOX�GLODNXNDQ�DGDODK�PHODNXNDQ�LQRYDVL�SURGXN�GDQ�PHPEXDW�SHUDQFDQJDQ�

VWUDWHJL�SHQMXDODQ VHSHUWL�0HGLD�6RVLDO�XQWXN�PHPDVDUNDQ $55$�5RWL'DHUDK�

7DODQJ� -DZD GDQ� OXDU� NRWD\DQJ� GLUDVD� PDPSX� PHQJDWDVL� SHUPDVDODKDQ�

SHUPDVDODKDQ� \DQJ� WHUMDGL� GDODP� SHPDVDUDQ� $55$� 5RWL VHUWD� GLKDUDSNDQ�

PDPSX� PHQLQJNDWNDQ� NXDOLWDV� SHQMXDODQ� GDQ� SHPDVXNNDQ� EDJL� SHPLOLN�

XVDKD�WHUVHEXW�

6HODLQ�LWX PHWRGH 0HGLD�6RVLDO�VHFDUD�WLGDN�ODQJVXQJ�PHPEXND�SROD�SLNLU�

EDJL� SHPLOLN� XVDKD 5RWL WHUVHEXW� EDKZD� GDSDW� PHPEDQWX� SHPDVDUDQ� SDGD�

XVDKD 0HUHND�� $GDSXQ� NRQVHS� SHQMXDODQQ\D� ELVDSHPHVDQDQ� PHODOXL� PHGLD�

VRVLDO�GDQ�GDWDQJ�VHFDUD�ODQJVXQJ� NHORNDVL�XVDKD�SURGXNVL�\DLWX�SHPEHOL�ELVD�

ODQJVXQJ�PHOLKDW�NH�/RNDVL�80.0 $55$�5RWLGDQ�VHEDJDL�PHGLD�SURPRVL�

SDGD� XVDKD� WHUVHEXW� ELVD� ODQJVXQJ�PHQJXQMXQJL PHGLD� VRVLDO� VHEDJDL�PHGLD�

SURPRVL�PDXSXQ�DODPDW�VHUWD�NRQWDN�SHPHVDQDQ 5RWL�WHUVHEXW�

3HQJDEGLDQ� NHSDGD PDV\DUDNDW� PHQGDSDWNDQ� SHQJDODPDQ� GDQ� LOPX� GDUL�

EHUEDJDL NHJLDWDQ� WHRUL� PDXSXQ� SUDNWHN� LQL � GDQ� SHQXOLV� PHPEXDW� /DSRUDQ�

3.30 LQL� GHQJDQ MXGXO� ³3(1*(0%$1*$1� ,129$6,� 352'8.�

8178.�0(1,1*.$7.$1�3(1-8$/$1�527,�3$'$�80.0�$55$�

527,�'(6$�7$/$1*�-$:$´
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������3URILO�'DQ�3RWHQVL�'HVD

7DEHO�����3URILO�'HVD

'HVD�7DODQJ�-DZD

1HJDUD ,QGRQHVLD�

3URYLQVL� /DPSXQJ�

.DEXSDWHQ�� /DPSXQJ�6HODWDQ�

.HFDPDWDQ� 0HUEDX�0DWDUDP

'HVD� 7DODQJ�-DZD

.RGH�3RV� �����

/XDV� ����KD���WHUEDJL�NH�GDODP���GXVXQ

-XPODK�3HQGXGXN /DNL�ODNL� �������2UDQJ

3HUHPXSDQ� �������2UDQJ

7RWDO�NHVHOXUDKDQ� �������SHQGXGXN

$JDPD� ,VODP� �������RUDQJ

.ULVWHQ� ����RUDQJ

.KDWROLN� ����RUDQJ

+LQGX�� ��

%XGGKD  ��

.KRQJKXFX  ��

1DPD�'XVXQ 'XVXQ�0DUJDMD\D

'XVXQ�7DODQJ�-DZD

'XVXQ�.DUDQJUHMR

'XVXQ�7DVLN�0DGX

6XPEHU���GDWD�NDQWRU�GHVD 7DODQJ�-DZD�7DKXQ�����

'HVD� 7DODQJ� -DZD PHUXSDNDQ� GHVD� \DQJ� EHUDGD� GL� GDHUDK� /DPSXQJ

.HFDPDWDQ� 0HUEDX� 0DWDUDP .DEXSDWHQ� /DPSXQJ� 6HODWDQ�/DPSXQJ�� 'HVD�

7DODQJ�-DZD PHUXSDNDQ�GHVD�\DQJ�EHUDGD�GL�NHFDPDWDQ�0HUEDX�0DWDUDP GHQJDQ�

.HOXUDKDQ�7DODQJ�-DZD \DQJ�WHUGLUL�DWDV���'XVXQ�\DQJ�GLPDQD�PHPLOLNL�VHEDUDQ�

SHQGXGXN� ����..� 'HQJDQ�PD\RULWDVPDV\DUDNDW� VHEDJDL� VHRUDQJ� SHWDQL�� EXUXK�

WDQL��SHJDZDL�1HJHUL�6LSLO��NDU\DZDQ��SHGDJDQJ��

%HEHUDSD� SRWHQVL� \DQJ� DGD� GL� GHVD� 7DODQJ� -DZD DGDODK�� GLPDQD�

PDV\DUDNDWQ\D� \DQJ� FXNXS� EDQ\DN�PHODNXNDQ� SHPDQIDDWDDQ� GHVD� 7DODQJ� -DZD�
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GHQJDQ� EHUFRFRN� WDQDP� GDQ EHUWDQL�� 1DPXQ DGD EHEHUDSD� PDV\DUDNDW� \DQJ�

PHPLOLK� XQWXN� EHUMXDODQ� GDQ� PHPEXND� XVDKD� 80.0� VHEDJDL� WDPEDKDQ�

SHQJDVLODQ��6HEDJDL�VDODK�VDWX�FRQWRKQ\D�DGDODK��XVDKD� $55$�5RWL��\DQJ�EHUDGD�

GL�GXVXQ�0DUJD�-D\D�7DODQJ�-DZD .HFDPDWDQ�0HUEDX�0DWDUDP� /RNDVL�80.0�

LQL�FXNXS�VWUDWHJLV�XQWXN�EDJL�SDUD�FDORQ�SHPEHOL�GDQ�PHQMDGL�VDODK VDWX SRWHQVL�

\DQJ�FXNXS�XQJJXO��GLPDQD�GDSDW�PHQLQJNDWNDQ�QLODL�HNRQRPL�EDJL�SHPLOLN�XVDKD�

80.0�GL�GHVD�7DODQJ�-DZD�

������3URILO�%80'(6

3URILO�%80'(6�'HVD�7DODQJ�-DZD�WDKXQ�����

1DPD�%80'(6� ��58.81�7$1,���7DODQJ�-DZD

7DQJJDO�%HUGLUL �����-81,�����

$ODPDW� �� -O�� 6HPDU� GXVXQ� PDUJD� MD\D� GHVD�

WDODQJ� MDZD� NHF�� 0HUEDX�

PDWDUDP�NDE��/DPSXQJ�VHODWDQ

1R�7HOSRQ ���

8QLW�8VDKD�<DQJ�GLMDODQNDQ D� 3HUGDJDQJDQ�8PXP

E� 'HVD�:LVDWD

F� 3HQJHORODDQ�6DPSDK

G� %5,�/LQN

H� -DVD�6HZD

-XPODK�3HJDZDL ����2UDQJ

0RWR ���

9LVL �� 0HQMDGLNDQ� GHVD� \DQJ� PDQGLUL� ��

NHVHMDKWHUD�DQ�EHUGD\D�VDLQJ

0LVL �� ��0HZXMXGNDQ�GHVD� \DQJ�PDQGLUL�

GDQ�EHUZLEDZD

��0HZXMXGNDQSHUHNRQRPLDQ� GHVD�

\DQJ�VHMDKWHUD

��0HQFLSWDNDQ�SHOXDQJ�XVDKD�EDJL�

PDV\DUDNDW
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������3URILO�80.0

80.0�$55$�5RWL�PHUXSDNDQ�80.0�\DQJ�EHUDGD�GL�'XVXQ�0DUJD�-D\D��

'HVD� 7DODQJ� -DZD�� .HFDPDWDQ� 0HUEDX� 0DWDUDP�� .DEXSDWHQ� /DPSXQJ�

6HODWDQ�80.0�$UUD�5RWL� LQL� WHODK� EHUGLUL� VHMDN� WDKXQ������/DWDU� EHODNDQJ�

EHUGLULQ\D� 80.0� $UUD� 5RWL� LQL� DGDODK� XQWXN� PHQLQJNDWNDQ� SHQGDSDWDQ�

SHUHNRQRPLDQ�NHOXDUJD�

7DEHO���� 3URILO�80.0

1DPD�80.0 $55$�527,�

/RNDVL 'HVD�7DODQJ�-DZD .HFDPDWDQ�0HUEDX�

0DWDUDP .DEXSDWHQ�/DPSXQJ 6HODWDQ

3HPLOLN %DSDN�$ULV

1R�7HOHSRQ ��������������

-HQLV�8VDKD 0DNDQDQ�

6XPEHU���3HPLOLN�80.0�7DKXQ�����

��� 5XPXVDQ�0DVDODK

80.0� $55$� 5RWL PHPLOLNL� NHNXUDQJDQ� GDUL� VHJL� SHPDVDUDQQ\D� .DUHQD�

SHPDVDUDQ� \DQJ� GLODNXNDQ� PDVLK� PHQJJXQDNDQ� FDUD� \DQJ� VHGHUKDQD� DWDX�

PDQXDO�ELVD�GLELODQJ�NXUDQJ�PDNVLPDO��ROHK�NDUHQD�LWX�PDND�UXPXVDQ�PDVDODK�

\DQJ�GLDPELO�DGDODK��

�� %DJDLPDQD� PHODNXNDQ� SHQLQJNDWDQ� 3HQMXDODQ 5RWL� SDGD� 80.0� $55$�

5RWL�"

�� %DJDLPDQD�PHODNXNDQ�LQRYDVL�GDQ�NHXQLNDQ UDVD SDGD�80.0�$55$�5RWL�

"

�� %DJDLPDQD� �PHODNXNDQ� � SHPDVDUDQ SURGXNQ\D PHODOXL�PHGLD 6RVLDO SDGD�

80.0�$55$�5RWL�"
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��� 7XMXDQ

�� 'HQJDQ� 0HODNXNDQ� SHQHUDSDQ VWUDWHJL� SHQMXDODQ� SDGD� 80.0� $55$�

5RWL DJDU�PDNVLPDO�GDODP�PHPDVDUNDQ�SURGXNQ\D�

�� 0HPEXDW�SHUEHGDDQ�UDVD�GDQ�PHQFLSWDNDQ�LQRYDVL�UDVD�SDGD�5RWL�LVL�\DQJ�

DGD�SDGD�80.0�

�� 'HQJDQ� FDUD� PHODNXNDQ� SURPRVL� GL� DNXQ� PHGLD� VRVLDO� SHPLOLN� GDQ�

80.0�$55$�5RWL�

��� 0DQIDDW�3.30

������0DQIDDW�8QWXN�0DKDVLVZD

�� 8QWXN�0HQLQJNDWNDQ�NHPDQGLULDQ��GLVLSOLQ��WDQJJXQJMDZDE�GDQ�MXJD�

VLNDS�NHSHPLPSLQDQ�

�� 8QWXN� 0HQDPEDK SHQJHWDKXDQ� GDQ� ZDZDVDQ� PDKDVLVZD� \DQJ�

GDSDW�GL�JXQDNDQ�XQWXN�GLPDVD�\DQJ�DNDQ�GDWDQJ�

�� 8QWXN� PHQGDSDWNDQ� VDUDQD� SHPEHODMDUDQ� EDJL� PDKDVLVZD� GDODP�

PHQJLPSOHPHQWDVLNDQ� LOPX� \DQJ� GL� GDSDWNDQ� GDUL� NDPSXV� XQWXN�

PDV\DUDNWD VHNLWDU�

������0DQIDDW�%DJL�80.0�$55$�5RWL

�� 7HUFLSWDQ\D� LQRYDVL GDQ� NUHDNWLIDQ� EDJL� SHPLOLN� XVDKD WHUKDGDS�

PHUHN�\DQJ�PHPEXDW�PXGDKGLLQJDW NRQVXPHQ�

�� 0HPSHUOXDV�SHPDVDUDQ PDXSXQ�0HPSURPRVLNDQ�SURGXN�$55$�

5RWL PHODOXL VRVLDO�PHGLD�

�� 0HQLQJNDWNDQ�SHQGDSDWDQ�SHUHNRQRPLDQ�SDGD�XVDKD�$55$�5RWL�

PHODOXL�LQRYDVL�SURGXN�\DQJ�OHELK�PHQDULN�
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������ 0DQIDDW�%DJL�,QVWDQVL

�� 6HEDJDL� EHQWXN� Q\DWD� SHPEHUGD\DDQ� GDQ� SHQJDEGLDQ� ,,%

'DUPDMD\D� NHSDGD� PDV\DUDNDW'HVD7DODQJ� -DZD .HFDPDWDQ�

0HUEDX�0DWDUDP�.DEXSDWHQ�/DPSXQJ6HODWDQ��

�� 0HPSURPRVLNDQ� .DPSXV� ,,%� 'DUPDMD\D� \DQJ� WHUNHQDO� NDPSXV�

EHUEDVLV� WHNQRORJL� LQIRUPDVL� GDQ� HNRQRPL� ELVQLV� NHSDGD�

PDV\DUDNDW'HVD�

�� +DVLO� GDUL� ODSRUDQ� LQL� GLKDUDSNDQ� GDSDW� PHQMDGL� EDKDQ� OLWHUDWXU�

PDKDVLVZD�\DQJ�DNDQ�PHPEXDW�ODSRUDQ�3UDNWHN�.HUMD�3HQJDEGLDQ�

0DV\DUDNDW�EHULNXWQ\D�

�����0LWUD�\DQJ�7HUOLEDW

.HJLDWDQ�\DQJ�GLODNXNDQ�SDGD�SURJUDP�3.30�SHQXOLV�EHNHUMD�VDPD�GHQJDQ�

EHEHUDSD�SLKDN�GLDQWDUDQQ\D�\DLWX��

�� .HSDOD�'HVD� EHVHUWD�3HUDQJNDW�'HVD� GDQ�0DV\DUDNDW 'HVD�7DODQJ� -DZD��

.HFDPDWDQ 0HUEDX�0DWDUDP��\DQJ VXGDK�EHUVHGLD�PHQMDGL� WHPSDW� ORNDVL�

VD\D�GDODP�PHODNVDQDNDQ�NHJLDWDQ3UDNWHN.HUMD�3HQJDEGLDQ�0DV\DUDNDW�

�� 3HPLOLN� 80.0� $55$� 5RWL� %DSDN� $ULV� GDQ� ,EX� 5DWQD \DQJ� WHODK�

EHUVHGLD�PHQMDGL�PLWUD�GDODP�NHJLDWDQ�3.30�LQL�PHPEHULNDQ�NHVHPSDWDQ�

NHSDGD� VD\D� XQWXN� PHODNXNDQ� LQRYDVL� SURGXN� VHUWD� PHQJHPEDQJNDQ�

80.0� 'DQ� 80.0� 5RWL� � PHQMDGL� VDVDUDQ� WXMXDQ� VD\D� GDODP�

PHQHUDSNDQ�EHEHUDSD�SURJUDP�NHJLDWDQ�GHPL�PHPEDQWX�NHEHUODQJVXQJDQ�

SHUHNRQRPLDQ�80.0�LWX�VHQGLUL�XQWXN�PHQMDGL�80.0�\DQJ�OHELK�EDLN�

ODJL�NHGHSDQQ\D��


